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LLIIMMIITTII  
 

Limiti immediati 

 
Esercizio 1 

𝑙𝑖𝑚
௫→ ିஶ

𝑥଻   =   −∞ 𝑙𝑖𝑚
௫→ ିஶ

𝑥଺   =  +∞ 𝑙𝑖𝑚
௫→ ାஶ

𝑥଻   =  +∞ 

 
Esercizio 2 

𝑙𝑖𝑚
௫→ ାஶ

3

𝑥଻
  =  0ା  𝑙𝑖𝑚

௫→ ଴ష

3

𝑥଻
  =  −∞ 𝑙𝑖𝑚

௫→ ଴శ

3

𝑥଻
  =  +∞ 

 
Esercizio 3 

𝑙𝑖𝑚
௫→ ାஶ

√𝑥
ర

  =  +∞ 𝑙𝑖𝑚
௫→ ିஶ

√𝑥
ర

  =  ∄ 𝑙𝑖𝑚
௫→ ିஶ

√𝑥
ఱ

  =  −∞ 

 
Esercizio 4 

𝑙𝑖𝑚
௫→ ିஶ

൬
5

7
൰

௫

  =  +∞ 𝑙𝑖𝑚
௫→ ାஶ

൬
5

7
൰

௫

  =  0ା 𝑙𝑖𝑚
௫→ ଴

൬
5

7
൰

௫

  =   1 

 

Esercizio 5 

𝑙𝑖𝑚
௫→ ିஶ

൬
5

3
൰

௫

  =  0ା 𝑙𝑖𝑚
௫→ ାஶ

൬
5

3
൰

௫

  =  +∞ 𝑙𝑖𝑚
௫→ ଴

൬
5

3
൰

௫

  =   1 

 
Esercizio 6 

𝑙𝑖𝑚
௫→ ିஶ

𝑙𝑜𝑔ଶ 𝑥   =  ∄ 𝑙𝑖𝑚
௫→ ାஶ

𝑙𝑜𝑔ଶ 𝑥   =  +∞ 𝑙𝑖𝑚
௫→ ଴శ

𝑙𝑜𝑔ଶ 𝑥   =  −∞ 

 

Esercizio 7 

𝑙𝑖𝑚
௫→ ିஶ

𝑙𝑜𝑔ଶ
ଷ

 𝑥   =  ∄ 𝑙𝑖𝑚
௫→ ାஶ

𝑙𝑜𝑔ଶ
ଷ

 𝑥   =  −∞ 𝑙𝑖𝑚
௫→ ଴శ

𝑙𝑜𝑔ଶ
ଷ

 𝑥   =  +∞ 

 

Esercizio 8 
𝑙𝑖𝑚
௫→ ଷ

(𝑥ଶ − 𝑥ଷ)    =    𝑙𝑖𝑚
௫→ ଷ

𝑥ଶ − 𝑙𝑖𝑚
௫→ ଷ

𝑥ଷ   =    3ଶ − 3ଷ = −18  . 

 
Esercizio 9 
𝑙𝑖𝑚
௫→ ଶ

 (𝑥ଶ − 3௫)    =    𝑙𝑖𝑚
௫→ ଶ

𝑥ଶ  − 𝑙𝑖𝑚
௫→ ଶ

3௫   =    2ଶ − 3ଶ  =  −5  . 

 

Esercizio 10 
𝑙𝑖𝑚
௫→ ଴

 (𝑠𝑖𝑛 𝑥 ∙ 𝑐𝑜𝑠 𝑥)    =    𝑙𝑖𝑚
௫→ ଷ

𝑠𝑖𝑛 𝑥 ∙ 𝑙𝑖𝑚
௫→ ଷ

𝑐𝑜𝑠 𝑥   =    0 ∙ 1 =   0  . 

 

Esercizio 11 

𝑙𝑖𝑚
௫→ 

గ
ଷ

 (𝑡𝑎𝑛ଶ 𝑥)    =   ൭ 𝑙𝑖𝑚
௫→ 

గ
ଷ

 𝑡𝑎𝑛 𝑥൱

ଶ

  =    ൫√3൯
ଶ

 =   3  . 

 

 
Esercizio 12 
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𝑙𝑖𝑚
௫→ ଵ

𝑙𝑜𝑔ଷ 𝑥

𝑥ଶ
   =     

𝑙𝑖𝑚
௫→ ଵ

 𝑙𝑜𝑔ଷ 𝑥

𝑙𝑖𝑚
௫→ ଵ

 𝑥ଶ
   =     

 𝑙𝑜𝑔ଷ 1

 1ଶ
    =     

0

1
   =     0  . 

 

Esercizio 13 

𝑙𝑖𝑚
௫→ ହశ

൬𝑥 −
3

𝑥 − 5
൰    =    5 − (+∞)    =   −∞  . 

 

Esercizio 14 

𝑙𝑖𝑚
௫→ ହష

൬𝑥 −
3

𝑥 − 5
൰    =    5 − (−∞)    =  +∞  . 

 

Esercizio 15 

𝑙𝑖𝑚
௫→ ଴శ

൬𝑙𝑛 𝑥 −
3

𝑥
൰    =  −∞ − (+∞)    =  −∞  . 

 

Esercizio 16 

𝑙𝑖𝑚
௫→ ଴ష

൬𝑙𝑛 𝑥 −
3

𝑥
൰    =  ∄  . 

 

Esercizio 17 
𝑙𝑖𝑚

௫→ ଴శ
[ (𝑥ଶ − 1) ∙ 𝑙𝑛 𝑥 ]    =  −1 ∙ (−∞)    =  +∞  . 

 

Esercizio 18 
𝑙𝑖𝑚

௫→ ିஶ
[ (𝑥ଶ − 1) ∙ 𝑙𝑛(−𝑥) ]    =  (+∞) ∙ (+∞)    =  +∞  . 

 

Esercizio 19 

𝑙𝑖𝑚
௫→ ଴ష

cos 𝑥

𝑥
  =    

1

0ି
 =  −∞  . 

 

Esercizio 20 

𝑙𝑖𝑚
௫→ ଴శ

 
𝑥

𝑙𝑛 𝑥
  =    

0ା

−∞
 =  0ି  . 

 
 
 


